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You should have a s

imple equation with 3
variable = o number, Check your solution by

Substituting the number in the original
equation,
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There are no grouping symbols.
Go to the next step

Each side of the equation is simplified, no
terms can be combined.
Go to the next step. =

The variables are only on one side of the
equation.
Go to the next step.

The constant values are only on one side of
the equation. e L
Go to the next step.

The variable has a coefficient of 1. Go to the
hext step.

My solution checks in the original equation!










